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Question 1
Do you agree or disagree with the following statement?
Children should read and watch news from a young age.
Use specific examples and details to explain your answer.

Question 2

Reading part Listening part
【学生建议】：
Notice: The university is 
going to develop online 
course evaluation.
Reason 1: Online evaluation 
saves time for students in the
last week of the semester.
Reason 2: Students can get 
results much earlier on the 
Internet than through the 
paper.

【学生态度】：The man disagrees.
Reason 1: Students have too many things
to do in the last week of the semester so
they might even forget to take evaluation;
Reason  2:  There  is  a  long  vacation  so
professors  don’t  need  to  produce  the
results  in  such  a  short  time;  If  the
professors  can  give  results  just  three
weeks before the new semester, students
will be OK with it.

Question: Explain the man’s opinion and why he holds that opinion.

Question 3

Reading part Listening part
【名词解释】：
Interviewer Influence
Some companies focus more
on target customers.

【教授举例】：
Example:  The furniture company plans  to
sell  something  different,  so  it  finds  the
customers who want to buy furniture, rather
than  following  traditional  sales  strategies.
The company posts pictures of the goods
on  the  blog  in  order  to  attract  more
customers. The result is that the company
gains huge profits from the new strategy.

Question: 用听力的例子来解释对这个概念的理解。

Question 4

【讲课要点】：
Two disadvantages of licensing
In order to gain more profits, some companies make and sell products in
other countries.
First, It’s hard to control the quality of products.
E.g.: A shoe company allows foreign companies to make shoes in other
countries. However, foreign companies use cheap material to make shoes
so the reputation of the home company will be ruined.
Second, Foreign companies will compete with the home company.
E.g.:  A  cellphone  company  uses  new  technology  on  its  products,  and
allows a foreign company to help sell products. Then the foreign company
learns about the new technology and produces products.

1



朗阁海外考试研究中心
Research Academy for Foreign Language Examinations

第二套：
题号 内容

Question 1

Do you agree or disagree with the following statement?
Children should learn to use computers and other electronic  devices as
early as possible.
Use details and examples to support your answer.

Question 2

Reading part Listening part
【学校通知】：
The university plans to switch
teaching  evaluation  system,
so  students  can  finish  the
feedback on the Internet.

【学生态度】：The woman agrees with the
proposal.
1. The university can save tons of paper,
to avoid printing the feedback package.
2. The latest class can then be used to
do revisions.

Question: Explain the woman’s opinion and why she holds that opinion.

Question 3

Reading part Listening part
【名词解释】：
Social  Inhibition:  some
animals  live  in  groups,  and
every member in a group has
its  own  role.  For  example,
the  young  ones  need  to
study and the old ones need
to find foods. In some cases,
the  old  animals  prevent  the
young  ones  from  doing
things that should be done by
old ones.

【教授举例】：
The  professor  takes  honeybees  as  an
example. The young bees have to stay in a
hive  and  the  old  bees  come  out  to  find
food.  In  order  to  prevent  young  bees
coming out, old bees may produce a kind
of  chemical  material,  and  young  bees
respond to this material  by staying in the
hive. When more old bees die, the amount
of  chemical  material  will  decrease,  so
young bees come out  of  the hive to  find
food just like the old bees did.

Question: 用听力的例子来解释对这个概念的理解。

Question 4

【讲课要点】：There are two different ways of hibernation for different
species 
The first way is to hibernate in regular time.
Example 1:  The squirrels  often eat  a lot of  food in summer.  When it  is
warm, they will store a lot of food, then, they will choose to hibernate in late
summer.
The second way is to hibernate in cold weather or find few food.
Example 2: If there is enough food in warm climate, poky mouse will no
longer hibernate.
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